U-46 Part-Time Dual Credit Program and Resources

Lela Majstorovic Michele Chapman February 24, 2020

Opportunities at U46

Opportunities to receive early college credentials

- Advanced Placement (AP)
- International Baccalaureate (IB)
- Dual Credit
- Seal of Biliteracy
- Industry Credentials

Dual Credit at U46

- Dual Credit: Students receive credit at both high school and ECC
- Full-time Dual Credit: Students attend ECC for all of their classes
- Part-time Dual Credit:
 - In-high school course is offered at the high school taught by U46 teachers
 - At ECC course taught at ECC by ECC instructors

Dual Credit at U46

Full-time Dual Credit at ECC (3rd year)

- 2019-20 47 seniors enrolled
- 2020-21 50* seniors
- 2020-21 50* juniors

Part-time Dual Credit at high schools (2020-21)

- English 101, 102
- Math 112, 114, 120,
 - 126, and 190
- Spanish 202, 261

Dual Credit at U46

Part-time Dual Credit at ECC (2021-22)

- Provide students with access to math courses beyond AP Calculus BC
- Math 210 Calculus w/ Analytic Geometry II
- Math 230 Calculus w/ Analytic Geometry III
- Math 240 Introduction to Linear Algebra
- Math 250 Differential Equations

ECC Application Process for Students

- Unweighted GPA of 3.0 or better
- Initial Interest Form
- Dual Credit Application and Testing Guide
- ECC Application
- Placement Testing
- Notification by March 6, 2020

ECC Application Process for Teachers

- Interest meetings in spring and fall of 2019
- Master's degree in content area or graduate credits in content area
- Application process including transcripts and resume
- Review by ECC
- Notification of teachers and schools

2020-21 Part-Time Dual Credit Classes

- English 101 & 102 Bartlett, Elgin, & Streamwood
- Math 112, 114, 120, 126 & 190 Larkin
 & South Elgin
- Spanish 202 & 261 all schools

Next Steps for Teachers

- Registration & staffing March 2020
- Professional Development at ECC
 - June 9, 10 & 11, maximum of 12 hours
 - Dual Credit Policies and Procedures
 - Curriculum with ECC Liaison
 - Hourly curriculum rate

Next Steps for Teachers

Teachers interested in dual credit for 2021-22

- February and March 2020 initial interest meeting and application process
- Applications due April 30, 2020

Dual Credit Resources

- Approval for full-time and part-time dual credit through school year 2023-24
- Dual Credit uses ECC curriculum & resources
- Part-Time (in-high school) resources
 - 10 sections per year per high school
 - Includes textbook & online licenses for resources

Full Time Dual Credit Resources 2020-21

- U-46 will provide full-time ECC students with bookstore credit to purchase books
- \$425 credit/semester/student
- \$85,000/year for 100 full-time students
- \$340,000 total through 2023-24 school year

Dual Credit Resources 2020-21

2020-21 Dual Credit Resources				
Course	Title	Unit price	Qty	2020-21
English 101/102	The Everyday Writer with 2016 MLA Update 6th edition	\$55.37	250	\$13,842.50
English 101/102	Writer's Help 2.0 online access (12 month access)	\$27.48	250	\$6,870.00
Math 112	College Algebra (Textbook with MML Bundle)	\$160.28	250	\$40,070.00
Math 114	Trigonometry (Textbook with MML Bundle)	\$137.38	250	\$34,345.00
Math 120	Statistics (Mystat lab online access only)	\$154.56	250	\$38,640.00
Math 126	Applied Calculus for the managerial Life LL custom ECC bundle	\$126.23	250	\$31,557.50
Math 190	Loose-leaf Version for Calculus: Early Transcendentals 2e & WebAssign with e-Book for Calculus	\$114.31	250	\$28,577.50
Spanish 202	Mas Espanol Intermedio Loose Leaf w/ connect access	\$335.48	250	\$83,870.00
Spanish 261	Estimated expense; final version April 2020	\$165.00	250	\$41,250.00
	Hardcover binding			\$19,300.00
	Full Time Dual Credit Resources			\$85,000.00
				\$423,322.50

Dual Credit Resources 2021–22

	2021-22 Dual Credit Resources			
Course	Title	Unit Price	Qty	2021-22
English 101/102	Writer's Help 2.0 online access (12 month access)	\$27.48	250	\$6,870.00
Math 126	Applied Calculus for the managerial Life LL custom ECC bundle	\$114.50	250	\$28,625.00
Math 190	Loose-leaf Version for Calculus: Early Transcendentals 2e & WebAssign with e-Book for Calculus	\$111.53	250	\$27,882.50
Spanish 261	Estimated expense; final version April 2020	\$ <mark>1</mark> 65.00	250	\$41,250.00
	Full Time Dual Credit Resources			\$85,000.00
				\$189,627.50

Dual Credit Resources 2022-23

2022-23 Dual Credit Resources				
Course	Title	Unit Price	Qty	2022-23
English 101/102	Writer's Help 2.0 online access (12 month access)	\$27.48	250	\$6,870.00
Math 112	College Algebra (Textbook with MML Bundle)	\$108.76	250	\$27,190.00
Math 114	Trigonometry (Textbook with MML Bundle)	\$108.76	250	\$27,190.00
Math 120	Statistics (Mystat lab online access only)	\$120.21	250	\$30,052.50
Math 126	Applied Calculus for the managerial Life LL custom ECC bundle	\$114.50	250	\$28,625.00
Math 190	Loose-leaf Version for Calculus: Early Transcendentals 2e & WebAssign with e-Book for Calculus	\$ <mark>11</mark> 1.53	250	\$27,882.50
Spanish 202	Mas Espanol Intermedio Loose Leaf w/ connect access	\$171.75	250	\$42,937.50
Spanish 261	Estimated expense; final version April 2020	\$165.00	250	\$41,250.00
	Full Time Dual Credit Resources			\$85,000.00
				\$316,997.50

Dual Credit Resources 2023-24

2023-24 Dual Credit Resources				
Course	Title	Unit Price	Qty	2023-24
English 101/102	Writer's Help 2.0 online access (12 month access)	\$27.48	250	\$6,870.00
Math 126	Applied Calculus for the managerial Life LL custom ECC bundle	\$114.50	250	\$28,625.00
Math 190	Loose-leaf Version for Calculus: Early Transcendentals 2e & WebAssign with e-Book for Calculus	\$111.53	250	\$27,882.50
Spanish 202	Mas Espanol Intermedio Loose Leaf w/ connect access			
Spanish 261	Estimated expense; final version April 2020	\$165.00	250	\$41,250.00
	Full Time Dual Credit Resources			\$85,000.00
				\$189,627.50

Dual Credit Resources

- A maximum of 1500 students part-time dual credit students per year (10 sections/high school)
- 100 full time students per year
- Average cost per student
 - \$264.57 in 2020-21
 - \$118.52 in 2021-22
 - \$198.12 in 2022-23
 - \$118.52 in 2023-24

QUESTIONS?